lim LX) = T (%)
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X — X,
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X, =—1 f(x)=3x2-2x (2

Xo=% f)=v2x+1 3
X2—=X+2
X, =—1 f(X)= ) (4
2x+1
X, =1 foo=2— (5
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X, =0 f(x)=x .sm(;) X#0 (7
f(0)=0
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X — X,
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lim fFOO—f(x)
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X, =0 f(x)=x>-2x (1
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lim f(X)_f(XO) X
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X— X, X=X

X, =2 f(x)=2[x-2/+3x (1
X, =0 f(x):|sinx—tanx| (2
X <1 {f(X)=2X x>1 3

f(x)=3-x x<1

lim f(x)_f(xo) .
B X=X, Xy
X —> X,
00 - X,
3
XO
X, =3 f(x)=|x-3| (1
X, =0 g(x):x.sin(i) X#0 (2
9(0)=0
X, =2 foo=vx-2 (3
| h(X) =X+1-vx2=1 X & ]|-o0,~1]U[1,+[ (4
Xg=— 0 =
h(x)=~v1-x* xel]-1]
4
f(x)=x% . f

helR f(1+h) (1

(2
X 0 0.8 0.99 1.01 1.1 2
f(x) 0 4
2x-1 -1 3
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X, =1 f 2
X, =1 f X 2x-1
5
f(X)=+I1+Xx . f
1
f(x)-1-—
lim u : (1
X—0 X
1
. _ f(X)—1—=x
limg(x)=0 : 9(x) = 2”7 - (2
X—0 X
Vx e[-1,0[U]0,+o0 : f(x)=1+%x+x.g(x) : (3
(4
X 0.2 0.1 0.01 -0.01 -0.1
f(x) 1.095 1.048
. % « 1.05 0.995 0.95
Vx e[-1,0[U]0,+o0] : f(x)= f(0)+%(x—0)+x.g(x) : (5
f'(O):% 0
6
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. —1_ h2
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: (2
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f(x)— f(x
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lim g(x) =0 f f |
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X > X%, (X) = T(X) +1(X=%;) +(X=%,)9(X)
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- X f(x)
1 X2~ 2x—1
L oox 1 LIS 0 JI+x=1+=
I+x X
X, =2 f(x)=5x-2x2 - f -1
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X
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X, f
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f g:X X f(x)=(1+x)’
(u=i ) vxelR: f(x)=g(x+1)
lim f(x)—f(O)=hm(1+x)3—1zhm1+3x2+3x+x3—1 :
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X—0
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X
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X
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f(x)=x>+|x : f -1
— 2
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X—)0+ X X—0 X X—0
— 2 __
im OO XX imx—1=—1
X—0" X X
0 f
fr (0)=-1 fr =1 : 0

0(0, f(0))
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— — — X2 _
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|
| =]a,b f
|
2
| =[a,b] f
a Ja.b
3
. f
fr. f X (). I
f(x)=x> . i -1
lim A+ =) i XX —ox IR X,
X—X, X—X,
f': X 2x. f IR f
f(X)=vXx+3 . i -2
CF0=F(x) . VX+3=x 3 (X3P (X% +3)
lim =lim =lim .
X—X, X=X, (X=%,)-(NX+3+/%,+3 -]—3,+00[ X
X — X,
= lim A1 ~ lim ! —
(X=X)-(NX+3 +/% +3) (VX+3+ % +3)  2.4/%, +3
1
fl:x— . f -3, +0 f
24X +3 ] [
I f' I f
fr.

lim f'(x)—f'(x,) =lim2x—2x0 5
X=X, X—X,

fo=x2 -1

f'(x)=2x




f' :x—>2 . f

f(x)=sinx =2
Sin X — sin X 2sin(X_X°).cos(X+X°) ZSin(X_XO).cos(X+X°)
lim——— 2 =lim 2 2 _lim 2 =CosX, -
X=X, X—X, 2.(x—xo)
2
sin %o
limcosﬂ=cosx0 lim—2 =1 :
2 X=X
2
X=X X+ X
3 —2sin( 9).sin( 0
lim S5 X0 % _ 2 2 =-2sinX, -
X—X, 7 X=X
)
f":X+>-2sinx . IR IR f!
n f fO—fr fO=f FO—f
f(n):(f(n—l)).:
f
foo=x" (1
f9%)=6.54321=6! ...... fPx)=6.54x  f"(x)=6.5x" f'x)=6x
fOx)=0 1 nx=7
f (X) =sin X (2
. F"(X)=—sinXx f'(X)=cosXx .
vne N : f™(x)=.sin(x+ n.%) ;
n=1 fO(x) = f(x)=sin(x+0%) n=0
n=1 n=0 f(”(x)=f'(x)=cosx=sin(x+1.%)

pelN
f D (x) = (fP)(X) =sin'(X+ p=) = cos(X+ P=) = sin(X+ p—+=) =sin(x +(p+1)2)
2 2 22 2
p+1 :

vne IN : f™(x) = sin(x + n.%) ;

10




(f

im

(4

A X g f
X, f+g -1
(f+ g)'(xo): f (%) +9'(%)
X, Af -2

(A5)'(%)=2.F'(X,)
X, fxg -3
(fx9)'(%) = f'(%).9(%)+ F(%).9'(%)

X l Xo g -4
g
[N ICS
() (9(%))?
f .
X E . X, g -5
i [ — f'(Xo)-g(xo)_g'(xo)-f(xo)
) (90,))
-1:

+00-(F+9)%) _ - F00= F)+900-906) _ . 0= F()  900-908) _

(— X

(%) +9'(%)
X—X, X—X, X—X, X—X,

i D000 _ A=A F00) 0 AT 10D _ ) () 2

X—X, X=X, X=X,
i (FX900-(Fx9)x) _ . F00900-F06).906) 3
X=X, X=X,

i FOO90 = F0)- 900+ f(%).900 = F (%) 9(%,)
X=X,

i 3OO-F OO = F0O4)) = FOAG) -9 (%)) _ F'0)-90%) = F(%)-9'(%,)

X — X, (9(x))? -
1 1 1 1 9(X)—9(x) 9(x)—9(X%)
(X)) = (=)(%) - \
hm g g — hm g(X) g(XO) — hm g(x)g(xo) — llm X— XO - _ g (XO) —_
X — X, X— X, X=X, 9(x)-9(%,) (9(x))
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F)-9(%) = 9(x).f (%))

>

N—

9(x)-9(%)

X=X,

F00=100) _ ¢ 800-00x)
X

-5

u'(%,) = n.(f ()" f'(x,)

lim

X=X,

A X=X _ f '(Xo)-g(xo)_ f(xo)g '(Xo)
9(x).9(%,) (9(X%))?
1
X f
g(x)= f(ax+b) . g .

g'(x,)=a.f'(ax, +b)

n n

f(x)=f(x,) e tim XX g (X=X )X+ X 72X F e XX

2
I f
XO
f(%y)
f)'(x,)= !
W) NN
3
n X, f
X, u:xe (f(x)"
aclR : f:x>a : *
. f(x)—f
vxelR: f'(x)=0 : lim M=0:
X—=>% X%
(a,b)elIR? . f x> ax+b *
f(x)—f(xo):hmax+b—axo—b:hma(x—xo):a
X=X, X=X X=X X=X
VxelR: f'(x)=a -
nelN* f:x—Xx" *

2 + Xon—l) B

X=X,
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n-1

. n-1 n-2 n-2 n-1
ImX™ + X777 X+ XX, X, =NX,

X — X,
vxelR: f'(x)=nx""|:
f:X|—>l *
X
1 1
lim Mzhm 0 im0 "X _hm -1 _ -1 TIR* X
XX, X=X X=X, (X=Xy)-(X-Xy) XXy X2
Uxe IR*: fi(x)= = !
X2
peZ . fixe xP . *
vXelR*:f(x)zin : IneIN*/p=-n
X
-nx"" —nx""  -n
vxelR*: f'(X)=——=———= =(-n).x"" = px"!
( ) (Xn)2 X2n Xn+1 ( ) p
fox/x: *
f(x)=+/x2+1 (1:
UxelR: f(x)=—2=% X

2.\/1+x2 B \/1+x2
f(X)=(x2=2x+3)° (2

VxelR: f'(X)=5.(x2=2x+3).(2x=2)=10.(x—=1)(x2=2x+3)

X3
(x—1

f(x)= (3

3A(x—1P2=2.(x-1.x> _ 3x3(x-1)-2x"  x*(3x-3-2X) _X2(x-3)
(x-1)* =D =) (x=)

1
F0= Ty (4

vxe IR\{l}: f(x)=

2(1+42x)2  —4(1+2x) -4
A+2%)"  (1+2x)"  (1+2x)°

VXGIR\{_?I}: f'(x)=
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X, €| I f
X, €J | J X, f
vxeld: f(x)< f(x,) -
vxel x<&::jiﬁ:j£§lzo Vxel x>x0:>i99:j£§2s01
X—X, X=X, -
f',(x,)=lim Mgo _
X— X, ~% %o f
) f(x)—f(x,)
o i f' (x)=lim ————=22>0
f'(x,)=0 Ol fla(X)="f",(%) s O Ly o x—>x, X%
X, f
X f

f'(x,)=0

A% F(X))) -
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FixI=x"3-12==+1 y
118

+-18

f'(0)=0 f(x)=x> f

f(x)=2x"-3.x2 . f
IR
VxelR: f'(X)=6Xx2—6X=6X(Xx—1)
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f'(X)=0<x=0 x=1 *
f'(x)<0exel0,1] *
[1,+00[ |-o0,0] : [0,1] f

fh=-1  f(0)=0 :

lim f(x)=-o lim f(x)=1im2.x> =+o
X—>—0 X = 00
X 0 1 +00
—00
f (%)
f(x)
y'+o2y=0 ! (6
-y
y' oy y
fr'=—wf f y'+@2y=0 f
sin cos
f "(x) =—a%cos(ax+b)=-a%f(x) f'(x)=—asin(ax+b) - f(X) =cos(ax +h)
y(X) =A.cos(wX+ @) - y y'+wry=0 .
(Lp) e IR?

16




17




